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PART 1 (35 points)

Answer the questions for (A) The Enemy.

A. THE ENEMY / Pear]l S. Buck

Answer questions 1-4.

1.

4 Ty

At the beginning of the story, Sadao and Hana decide the wounded man is an enemy because he ().
(i) docsn't know Japancse
(ii} comes out of the sea
(iii) threatens them
{iv) is a white man

(5 points)
After the prisoner leaves, Sadao knows the prisoner is safe because (--),
{1) Sadao gets a reward from the General
(i) he doesn't send him a signal
(iii) a Japanese boat picks up the prisoner
{1v) the police do not come to the house

(5 points}
Why do you think Sadao doesn't want to know anything about the prisoner? Give information
from the story to support your answer.
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4. For this question, choose ONE of the thinking skills from the Appendix (noo3) on page 15

OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

-t Sadao and Hana see the prisoner differently than the servants do. Explain why. Give information

from the story to support your answer.
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C. THE WAVE / Morton Rhue
Answer questions 10-14.

-

-.134.3)}

10. At the beginning of the experiment, Laurie (-).

11.

12,

8 1my

(i} isa weak student
{(ii) believes in The Wave
(111) doesn't write for The Grapevine

{iv) doesn't have many friends

Robert wants to be Ben's bodyguard (-).
(i) because he thinks Ben needs one
(i1)

(i1} because Ben feels he is in danger

so he can replace Ben one day

(iv) because the students asked him to be

g nrnann>oob NI 5Dy 9T NYon

(5 points)

{5 points)

At the end of the novel, Ben says he thinks that the experiment with the students might have been

"too much of a success". Why does Ben feel this way? Explain. Give information from the

novel to support your answer.
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PART HI (20 points)

1 R

Answer the question for either (15) The Split Cherry Tree OR (16) The Road Not Taken.

Suggested length: 80-100 words.

15. THE SPLIT CHERRY TREE / Jesse Stuart

"Teachers don't just teach; they can be vital personalities who help people understand the world and

themselves." — Adapted from Charles Platt

Make a connection between the above quote and the story. Give information from the story to support

your answer.

16. THE ROAD NOT TAKEN / Robert Frost

"Today, we can continually change our jobs and careers. But we need to remember that with each

new opportunity, we change as well. We can never go back to being the same person we once were."

— Adapted from Tony Robbins

Make a connection between the above quote and the poem. Give information from the poem to support

your answer.
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Use this page and the next (pages 12-13) for writing a rough draft.
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APPENDIX TO PARTS I and II

Thinking Skills

Distinguishing different perspectives

Comparing and contrasting
Explaining cause and effect

Uncovering motives
Explaining patterns

Inferring
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